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Multiple Choice Questions ( 1 mark each ) :-

1. The torque devéloped by an induction motor depends on

A} Flux per stator pole C) Rotor Power factor

B) Rotor Current D) All of the above {D (2 ) ‘?Q )
2.  The frequency of rotqr current in a 6 - pole , 50 Hz, 3 — ® induction mota running at 950 rpm is
% 25 . @) 5.0 c)15 D) 0.05 (A

3.  The starting torque of an induction motor can be increased by

(Ab Increasing the rotor reactance LL') ﬂ Increasing the supply frequency %
Inceeasing the rotor resistance (€)) ®) giving supply through a star-delta starter { 3 } 3

]

When ‘f ‘is the supply frequency and ‘S ‘is the slip, then frequency of rotor currentis given by
£S B) /s c)fs’ D} £.5/2 ,’_\ WA
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